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Řešení – diagramy „Matové motivy (1)“ 
 

Diagram 1) 1.Je7+ Kh8 2.Dxh7+ Kxh7 3.Vh1# (Anastázin mat) 

Diagram 2) 1.Vh8+ Kxh8 2.Dg8# (Baterie dáma + věž) 

Diagram 3) 1.Dxc6+ bxc6 2.Sa6# (Bodénův mat) 

Diagram 4) 1.Dxf8+ Kxf8 2.Ve8+ Kg7 3.Vg8# (Arabský mat) 

Diagram 5) 1…Jh3+ 2.gxh3 Dxh2# (Baterie dáma + střelec) 

Diagram 6) 1.Dxh6+ gxh6 2.Vhxh6# (Mat v otevřených sloupcích) 

Diagram 7) 1.Vf8+ Dxf8 2.Dxh7# (Baterie dáma + věž) 

Diagram 8) 1.Dxh6+ Sxh6 2.Vxh6# (Mat v otevřených sloupcích) 

Diagram 9) 1.Jg6+ hxg6 (lepší je 1…Kg7) 2.Vh1+ Kg7 3.Vh7# (Arabský mat) 

Diagram 10) 1…Jg3 2.Dxd4 (2.Dxh7 Jde2#) Je2+ 3.Kh1 Dxh2+ 4.Kxh2 Vh8+ 5.Sh6 Vxh6+ 6.Dh4 

Vxh4# (Anastázin mat) 

Diagram 11) 1.Jxd5 exd5 2.Vxe7 1-0 (2…Sxe7 3.Dxh7#) (Baterie dáma + střelec) 

Diagram 12) 1.Vxc6+ bxc6 2.Sa6# (Bodénův mat) 


